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What happens when you press Ctrl + X after selecting some cells in Excel?

a. The cell content of selected cells disappears from cell and stored in clipboard
b. The cells selected are marked for cutting

c. The selected cells are deleted and the cells are shifted left

d. The selected cells are deleted and cells are shifted up

“Ctrl + A” is used to

. b. 3 <
& aold highlighted selection. Opens a new, blank document

window
¢. Select all contents of the page. d. Copy selected text.
Which can be used for quick access to commonly used commands and tools?
a. Status bar b. Tool bar
¢. Menu bar d. Title bar
As the user types, AutoCorrect was originally designed to replace
a. Short and repetitive words b. Misspelled words
¢. Grammatically incorrect words d. None of these
HTTP is
a b. a set of rules which are used to
A web browser retrieve linked web pages across the
web
c. A search engine d. None of the above
URL is the acronym for
a. Uniformly Reachable Link b. Universal Record Locator
¢. Universal Record Linking d. Uniform Resource Locator
A computer network permits sharing of
a. Resources b. Information
¢. Botha&b d. None of these
1MHz=?
a. 1000 Hz b. 1000 KHz
c. T0Hz d. 100 KHz

LAN, WAN and MAN are computer networks cover different areas. Their first
alphabets L, W and M respectively stand for

a. Local, World and Middle b. Local, Wide and Metropolitan
¢. Long, Wireless and Metropolitan d. None of the above
A router is

a. A network adapter used to set up a wired network

b. a device used for conversion between analog signals and
digital bits

¢. a network device that can receive the data, analyze it and transmit to other
networks

d. An eight-pin connector
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